

$$\log_{mn}^m + \log_{mn}^{mn} = b \rightarrow \log_{mn}^m = b-1 \rightarrow \frac{\log_n^m}{\log_n^m + \log_n^n} = b-1 \rightarrow b = \frac{\alpha}{\alpha+1} + 1 \quad (1)$$

$$[b] = \left[\frac{\alpha}{\alpha+1} \right] + 1 \rightarrow [b] = 1$$

الف) ① $\log_{\frac{1}{p}}^{\alpha} \neq 0 \rightarrow \alpha \neq 1$ ② $\frac{\alpha}{\log_{\frac{1}{p}}^{\alpha}} < 0$ $\frac{\alpha}{p} \mid \frac{0}{+} \mid \frac{-}{+}$ $[0, 1)$ (2)

$$① \cap ② \rightarrow [0, 1)$$

$$\rightarrow) ① \quad \alpha^p - \alpha - 1 > 0 \rightarrow (\alpha - 1)(\alpha + 1) > 0 \quad \frac{-1}{+1} \mid \frac{p}{-1} \mid \frac{+}{+} \quad (-\infty, -1) \cup (1, +\infty)$$

$$② \quad \alpha^p - 1 > 0 \rightarrow \frac{-1}{+1} \mid \frac{1}{-1} \mid \frac{+}{+} \quad (-\infty, -1) \cup [1, +\infty)$$

$$① \cap ② \rightarrow (-\infty, -1) \cup (1, +\infty)$$

$$\log_{\alpha}^a = t \rightarrow pt + \frac{1}{pt} = p \rightarrow \frac{1}{x(p \pm)} \quad pt^2 - pt + 1 = 0 \quad (pt - 1)^2 = 0 \quad \rightarrow \frac{1}{p}$$

$$\log_{\alpha}^a = \frac{1}{p} \rightarrow \frac{1}{p} \log_p^a = \frac{1}{p} \rightarrow a = p$$

$$\log_{\frac{a}{p}}^{\frac{a}{p}} = \log_{10}^{10} - \log_{10}^p - \log_{10}^p = 1, 1 \mid \log_{\frac{a}{p}}^a = p \log_{\frac{a}{p}}^p = 1, 1 \mid \log_{10}^{10} = \log_{10}^{10} - \log_{10}^p + \log_{10}^p = 1, 1 \quad (3)$$

$$p\alpha^p + 1\alpha - 11 = 0 \rightarrow \alpha \rightarrow -\frac{11}{p} \quad \left| -\frac{11}{p} - \frac{p}{p} \right| = \frac{14}{p}$$

$$\log_{14}^p + \log_{14}^{\frac{a}{p}} = \frac{1}{\log_p^p + \log_p^p} + \frac{1}{\log_{\frac{a}{p}}^p + \log_{\frac{a}{p}}^p} = \frac{1}{p, 11} + \frac{1}{10 + \frac{\log_{\frac{a}{p}}^p}{14}} = \frac{10}{19}$$

$$\log_p^p = \frac{\log_{\frac{a}{p}}^p}{\log_{\frac{a}{p}}^{\frac{a}{p}}} = p, 11 \rightarrow \log_{\frac{a}{p}}^p = 14$$

$$\log_{10}^p + \log_{10}^p = \frac{1}{\log_p^p + \log_p^p} + \frac{1}{\log_p^p + \log_p^p} = \frac{1}{p, 10} + \frac{1}{p} = 1, 4 \quad (4)$$

$$\log_{\frac{a}{p}}^{\frac{a}{p}} = \frac{\log_p^p}{\log_p^p} = 1, 10 \rightarrow \log_{\frac{a}{p}}^p = p, 14$$

$$\log_{\frac{p}{k}}^{\frac{p}{k}} + \log_{\frac{p}{k}}^{\frac{p}{k}} = \frac{pm + p}{k} = \frac{p}{k} (m+1) \quad (5)$$

$$\log_{\frac{p}{k}}^{\frac{p}{k}} = m \rightarrow \log_{\frac{p}{k}}^{\frac{p}{k}} = m \rightarrow \log_{\frac{p}{k}}^{\frac{p}{k}} + \log_{\frac{p}{k}}^{\frac{p}{k}} = pm \rightarrow \log_{\frac{p}{k}}^{\frac{p}{k}} = pm - 1 \rightarrow \log_{\frac{p}{k}}^p = \frac{pm-1}{p}$$

$$\frac{1}{p} \log_{\frac{p}{k}}^p = \frac{pm-1}{p}$$

$$\left(\frac{p}{a}\right)^{p\alpha-1} z \left(\frac{a}{p}\right)^{p\alpha} \rightarrow p\alpha^p = 1 - p\alpha \rightarrow p\alpha^{p-1} + p\alpha - 1 = \alpha^{\frac{p-1}{2}} \frac{1}{p} \quad (1)$$

$$\log_{p+1} \sum_{n=1}^{\infty} \log_{p+1}^{-n} \in \mathbb{Q} \subseteq \mathbb{E}$$

$$\log_{p+1}^t = \boxed{\frac{p}{p}}$$

$$\log_p^b = \frac{p}{p} \left(\log_p^r + \log_p^m \right) \rightarrow \log_p^b = \log_p^r + \log_p^m \Rightarrow b = p^r$$

$$\log_{10} (p^4 \times 10^{-n}) = \log_{10}^{1.0} = \boxed{\frac{p}{p}}$$

$$\frac{1}{\frac{b}{p\alpha}} = z \log t \rightarrow b = \frac{p\alpha}{\log t}$$

$$p\alpha = b + c \rightarrow$$

$$c = p\alpha - b$$

(10)

$$c = \alpha \left(p - \frac{p}{\log t} \right) \rightarrow \frac{c}{\alpha} = p - \frac{p}{\log t}$$

$$= p^{\frac{1}{p}} \log p^{1.0} - \frac{1}{p}$$

=

$$\frac{c}{\alpha} = p - p \log p^{1.0} \Rightarrow (p)^{-\frac{1}{p}} \times (p - p \log p^{1.0})$$

$$\rightarrow p^{-\frac{1}{p}} \times 10^{\frac{1}{p}} = \left(\frac{10}{p}\right)^{\frac{1}{p}} = \boxed{\sqrt[p]{10}}$$